
 20° cont. 

ISO 8015

DRAWING:

7511A131168

FINISH:

J.K. 27-2-2013

NAME

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6

WELDING SYMBOL NEN EN 22553

SHEET 1 OF 3

-

Weight: 197931.80 gram

2-10-2012

NOT_REQUIRED -

UNITS : mm

SHEET FORMAT:

7

PROJECTION : THIRD ANGLE

Design Review

A3

B

A

8

M.B.

24-10-2014PRINTED

Genverter 30Nm D722-3 cyl
DRAWN

CHK'D

ROUGHNESS ACC. to NEN3634

SIGNATURE DATE STATUS:

DO NOT SCALE DRAWING

REVISION

TITLE:

ARTICLE NO.

SCALE:1:8

UNLESS OTHERWISE SPECIFIED:

CHAMFER SHARP EDGES

GENERAL TOLERANCE

NEN ISO 2768-m

FORM AND PLACE TOLERANCES 

NEN-ISO 1101

TOLERANCE PRINCIPE

Material:

Recommended Coolant (by Kubota) Capacity lit (USgal) 3.1 (0.82)

Mass: 179 kG

Panels: Powder coating RAL9010 White

Earth Lug

Coating
Bottom structure
Profile structure  ; Powder Coating EP9020 Black Metalic

Siphon in / outExhaust

Expantion
tank

60  

 5
6
 

 544 

 78  57 

Oilfilter

Foot print

Service side

Connection box
Air inlet

Dipstick

 721 

 5
9
9
 

 1
0
1
 

black

remote
fuel out

battery

water in

        +

AC cable

red

fuel power

battery

fuel in

 3
4
0
 

13 (8x) 

 680 

 2
3
0
 

 

 727 

 352 

 1
9
9
 



ITEM 
NO. QTY. DESCRIPTION DRAWING ARTICLE No.

14 1 Bottom + Kubota Engine Z482 + Genverter 7511A131178 NOT_REQUIRED

13 2 WP logo domed small 40200950-WP logo domed small 40200950

12 4 NUT HEXOGONAL  SELF LOCKING M6 RVS 50211495 Zelfborgende Moer M6 RVS 50211495

11 4 Washer M6 50211404 Washer M6 50211404

10 4 Binnenzesk Bout RVS M6X50 50211493 Binnenzesk Bout RVS M6X50 50211493

9 4 Taptite 2000 M5x18 cil. button head Torx T25 hex tapping screws_iso 50211361

8 2
Hexagon head bolt-Full thread GB-T 5783-2000 - A 
M5X10-N

hexagon head bolts-full thread gb

7 1 Panel frontside assy 7511A131175 NOT_REQUIRED

6 1 Control Panel Genverter 30Nm 7511a12500 NOT_REQUIRED

5 1 Panel Air Inlet mounted complete 7511A121042 NOT_REQUIRED

4 2 Mounting strip control panel 7511P12957 40403041

3 1 Profile frame 3 cyl 7511A131169 NOT_REQUIRED

2 2 Panel engine side 7511A12930 NOT_REQUIRED

1 1 Panel backside assy 7511A131184 NOT_REQUIRED

Design Review

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6 7 8

Material:

NAME

27-2-2013J.K.

FINISH:

7511A131168

DRAWING:

UNITS : mm

ISO 8015

-NOT_REQUIRED

2-10-2012

Weight: 197931.80 gram

-

SHEET 2 OF 3SCALE:1:5

ARTICLE NO.

TITLE:

REVISION

DO NOT SCALE DRAWING

STATUS:DATESIGNATURE

TOLERANCE PRINCIPE

WELDING SYMBOL NEN EN 22553

SHEET FORMAT:

M.B.

24-10-2014PRINTED

Genverter 30Nm D722-3 cyl

ROUGHNESS ACC. to NEN3634

CHK'D

DRAWN

UNLESS OTHERWISE SPECIFIED:

CHAMFER SHARP EDGES

GENERAL TOLERANCE

NEN ISO 2768-m

FORM AND PLACE TOLERANCES 

NEN-ISO 1101

PROJECTION : THIRD ANGLE

A2

?

10

5

2

2

7

6

1

3

4



Design Review

6

D

C

B

A

E

F

G

H

E

A

B

C

D

F

54321 7 8 9 10 11 12

1 2 3 4 5 6 7 8

Material:

NAME

FINISH:

7511A131168

DRAWING:

UNITS : mm

ISO 8015

-

2-10-2012

Weight:  gram SHEET 3 OF 3SCALE:1:5

ARTICLE NO.

TITLE:

REVISION

DO NOT SCALE DRAWING

STATUS:DATESIGNATURE

TOLERANCE PRINCIPE

WELDING SYMBOL NEN EN 22553

SHEET FORMAT:

PRINTED

DRAWN

CHK'D

ROUGHNESS ACC. to NEN3634

UNLESS OTHERWISE SPECIFIED:

CHAMFER SHARP EDGES

GENERAL TOLERANCE

NEN ISO 2768-

FORM AND PLACE TOLERANCES 

NEN-ISO 1101

PROJECTION : THIRD ANGLE

A2


